
 
 

 

 

 



 

 

 



 





 



 



 

 

 

 

 

 

 

 

Calificación =
(∑ Atributoi

n
i=1 )/n



 

 

𝑦 = 𝑡𝑟𝑖𝑚𝑓(𝑥, [0 0 4])

𝑦 =

𝑡𝑟𝑎𝑝𝑚𝑓(𝑥, [3 5 6 6.5])
𝑦 =

𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [0927 8.85])

𝑡𝑟𝑖𝑚𝑓(𝑥, [0 0 3])

𝑡𝑟𝑖𝑚𝑓(𝑥, [1 3 5])

𝑔𝑏𝑒𝑙𝑙𝑚𝑓(𝑥, [1.05 1.656 6.169])

𝑦 = 𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [1 9])

𝑦 = 𝑡𝑟𝑖𝑚𝑓(𝑥, [0 0 3])

𝑦 = 𝑡𝑟𝑎𝑝𝑚𝑓(𝑥, [2 5 6 8])

𝑦 =

𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [1.699 10])

 
 
 
 
 
 
 
 
 
 
 
 



 

𝑦 = 𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [1.293 0])

𝑦 = 𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [0.9373 3.72])

𝑦 = 𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [0.7958 7.66])

𝑦 = 𝑔𝑎𝑢𝑠𝑠𝑚𝑓(𝑥, [0.9772 9])

 

 



 

 
 

calificación

=
∑ Puntos obtenidos en el atrtibutoi  ∗  Porcentaje de ponderación en el atrtibutoi

n
i=1

Puntaje máximo en el atrtibuto
 

 





 

 

 



 

 

 
 



 

 

  



 

 

 





 

 

 

 

 



 

 

 



 

 



 



 

 
 
 
 
 



 




